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booklet. As soon as you are instructed to open the booklet in
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of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due
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within 5 minutes. Afterwards, neither the Question Booklet
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2. Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature.

3. Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.

4. For each question in the Question Booklet choose only one
correct/most appropriate answer, oiit of four options given
and darken the circle provided against that option in the
OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only.

5. Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ . @ @ If (B) is correct answer.

6. There are 50 objective type questions in this Booklet. All
questions are compulsory and carry 2 marks each.

7. Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

8. When the examination is over, original OMR Answer Sheet is
to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.

9. There is no negative marks for incorrect answer. :

10. Use of any calculator/log table/mobile phone is prohibited.

11. In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic. For
Technical words terminology in English shall be
considered as standard.
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ECONOMICS -1I

(©

It provides more utility to consumer
at equilibriym point

(4) (@) and (g) only
B (®) and (o) only
©  ®), () and (d) onty

@) @, ®), (¢) ang (d)
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Samuelson’s Revealed Preference Theory
of Demand 18 superior to Hicksian
Demand theory. The reasons are -

(@) It explains the pehaviouristic
analysis of consumer’s demand.

by It reveals the consumetr’s choice on
his demand.

(c) Consumer wants to maximize his
satisfaction.

(@ It explains Slutasky cost difference
effect as compared t0 Hicksian
compensatory effect.

Codes :

(3 @ ®)and ©

® @ (©and@

© ), (©and @

D) (@) ®ad @

Why factor pricing has a distinct

theory ?

(a) the demand for a factor is derived
demand.

(b) the supply of 2 factor depends on
its opportunity cost.

(c) the pricing of some of factors are
influenced by social and human
factors.

(d) the cost of factor depends on
technology.

Codes :

(A) (a) and (©) only

®) (®) and (c) only

©) ) (c) and (d) only

D) (@) ©) @ and @

(@) e e & aﬁrwwﬂm’rwﬁ

muﬁﬁmﬁm%mmﬁmﬁ
gl ST 8 ?
(a) @mmaﬁqﬁsgﬂﬁnﬁ%u

(®) mmaﬁﬁw&ﬁmmmﬁﬁt
AR

© I e R W TR T
qﬁaﬁaaﬁiwumm%l

(d) mmﬁmammﬁﬁt-@@%\

(a) ¥ (@) (b)
@) Fac (b) 3 (o)
© ¥ (b)) iR (d)
@) (@), ©) ©) iR (d)
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Assertion (A) :

Welfare is said to increase (or decrease) if
at least one person is made better off (or
worse off) with no change in the position

of others.

Reasoning (R) :

The gainer from the change could more
than compensate the losers, yet be better

off themselves.

Codes :

(A) (A) and (R) both statements are’

correct but (R) is not the sole reason
of the (A) statement.

(B) (A) and (R) both are correct but
there is no cause effect relationship.

(©) (A) and (R) both are not correct
hence, no cause effect relationship.

(D) (A) and (R) both statements are
independent.

R AT (A) :

AT IS AT 3T HH Bl T T el ST
afg w9 @ ®Y wh Al w Rl o=t
B (S7eT B G o) SEE T A
fearfa 9 =i uRad= & gem 2|

&HRUT (R) :

Wﬁaﬁ?ﬁwuwﬁmwﬁﬂ%ﬁwﬁ
ATl HAfR ot Qfagfd seeh off oot feafq o
A

e

(A) (A) 3R (R) I stfyerem Tt € forg
(R), (A) T THHH HROT &l 7|

(B) (A) ¥R (R) Tl Wl ¥ fofrg 1 I
HROT IO Hey & ¥

(C) (A) 3R (R) 3 W&t & € o7 HROI-
ftumg geiy 7l B

(D) (A) &R (R) BT 1firhem s €1
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Assertion (A) :

Williamson’s Managerial Discretion

model is related to the maximisation of

the manager’s utility.

Reasoning (R) :

It is a function of expenditure on staff and

emoluments and discretionary funds.

Codes :

(A) (A) and (R) both are correct and (R)
is the cause of (A).

(B) (A) and (R) are correct but they
have no cause effect relationship.

(C) (A) and (R) both are not correct
hence, there is no cause effect
relationship. _

(D) (A) and (R) both are independent.

Assertion (A) :

According to the law of Demand quantity

demanded varies inversely with price.

Reasoning (R) :

As per law of Diminishing marginal

utility each successive unit of a commodity

gives lesser satisfaction than preceding

unit. Therefore the consumer will buy

more only at a lower price.

Codes : -

(A) (A) and (R) both are correct but (R)
is not the sole cause of (A).

(B)  (A) and (R) both are correct but they
have no cause effect relationship.

(C) (A) is correct but (R) is not correct
so (R) is not the cause of (A).

(D) (A) and (R) both are independent
so (R) is not the cause.

ATRAT (A) 1
faferaee 1 et faashyol diee yeres
% SYAIfiTl ) sTferhad w0 ¥ Haifkg ¥

TR (R) :

TE W% W =3, yfwal wd faaswgu

Y HIY H B S

e

(A) (A) 3R (R) I T & TU1(R), (A) T
FHRU

(B) (A) 3R (R) 3 Tl ¥ foreg 370 o
RO 1 Ty T g

(€ (A) SR (R) I T T &, zfee g3
HIE HROT IR TRy T S

(D) (A) 3R (R) i wa= &1

fme (A) :

A % oW % STIER owg 5t A/ih T "
H9d % fawdia feen § axordt §

T (R) :

HrHATd ST 39 99 % 3THER v 918
AT 3T 379 | T8 i THTE I g §
A Hfe TeF Ft ¢ 1 safae s w9
Fad § ferr e Gl B

he

(A) (A) 3R (R) 3 W& ¥ R (R), (A)
1 Toh-Teh A1 R e § |

(B) (A) 3R (R) I wet § fopg =70 HRUI-
Tfeom w1 Ty T 1

©) (A) W ? forg (R) &t T ¥ gaferg
(R), (A) T R0 T& T

(D) (A) 3R (R) I Trei=l § gaferg (R) =
HRI T B
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Arranged in sequence :

(a) Ordinal Approach of Demand

(b) Cardinal Approach of Demand
(c) Demand Theory of logical ordering

(d) Revealed Preference Theory of
Demand

Codes :

(A) (@), ®). ©
(B) (b), (@) (), ()
©) (© ®) @),
(D) (d), () (b), @)

Make market structure in sequence

order :

(a) Perfect competition

(b) Monopolistic competition
(c) - Oligopoly

(d) Monopoly

Codes :

B) @ © @, ©)

(B) (d). (@), (b). ()

© (@) (), ®), ()

(D) ®), (. (@), (d)

%Y ¥ oFafeerd HIfEy :

(a) T I FHwAE gheR
(b) T SR TUAETE g
(©) T ol dfthes A THSIA

@ W vehe s st

He :

(A) (@), (), (©) (d)
(B) (), (@), (d) ()
© (@, ®b) @, ()

(D) (@ © 0@

TSR ET F] FAHR AT ST :

(a) gof i

(b) IR HT
(c) STEHIERR

(d) THIERR

e

(A) @), ©, (), (b)

(B) (d), (@), ®), (9

©€) (@, (@) (b))

(D) (), (), @), (d)
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10.

11.

(D) (@), () @, b

Arrange the Welfare Economics in 9.

sequence :
(a) Pigovian Welfare Economics
(b) Bergson’s Welfare Economics
(c) Paretian Optimum Economics

(d) Hicks-Koldar
Criteria Welfare Economics

Codes :
(A) (a), (b), (), (d)
(B) (9, (a), (b), (d)
, (©)
, (b)

Compensation

©) (@), () (@)

Arrange the theory of value of money  10.

according to its origin :

(a) Commodity Theory of Money
(b) Transaction Theory of Money
(c) Friedman Theory of Money

(d) Cash Balance Theory of Money
Codes :

(A)  (b), (@), (9) (@)

(B)  (d), (@), (b), (0)

© @, @), (@), ()

(D) (), (@), (b), (a)

According to J.B. Say’s Law of Market  11.

(A) demand creates its own supply

(B) supply creates its own demand

(C) inflation creates unemployment
)

unemployment creates inflation

FHAUETE] AL FH § Hod HIfoT

(@) N FHeAERT St
(b) E T HEATITETS eI
(c) T = ATFOAH HeAvER] AL
(d) fera-wieer afayfd wFRUs Feam
1T
e
(A) (@), (b), (0), (d)
(B) (9, (@), (b), (d)
Q) (@), ®) @) (o)
(D) (a), (c), (d), (b)

—~—~

a1 o g Fgia ol ST 399d % STER
ZErerd W

(@) T o fasia

(b) &1 1 oA Tagid

(c) ThIeH %1 gg1 fagia

(d) ¥ THe I fagia

d

a

(A)  (b)
(B) (),
a), (b

(d

c),

N—

. (©), (a)

): (c
d), (c
) (a

—_—~ o~

7
’

=

7

—_~

0
N’
—_
—_

4
’

—_~
~—
—~

& ¥ % R g & ergEn |

(A) T ST Safd H To o e R
(B) 3TYfd STTH T T T @rd Tl B |
(C) TeEIfewfa, ISR =Y o e T
(D) SRS, eIl o) T o B
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12.

13.

14.

According to Keynes demand for money  12.

for speculative motive is inversely related
to _

(A) income
(B) rate of interest
(C) terms of trade

(D) expected income

In his theory of development Schumpeter ~ 13.

emphasized on the need for :
(A) Balanced Growth

(B) Need for infrastructure
(©)

(D) Demand factors

Role of innovations

Imitating consumption pattern of 14.

relatives and neighbourers is known as

(@) crowding out effect

(b) transmission mechanism
(c) demographic transition
(d) demonstration effect
Code :

(A) Only (a) is correct

(B) (b), (c) are correct

(C) (a), (c) are correct

(D) Only (d) is correct

m‘éaaqgan IAE YT & fae 21 At
o ¥ wfaeliag B B

(A) &
(B) =S &
(C) AR 9

ST I

famma & v fogra & yFdrel 4
R ER feEm

(A) Hgfer fomm

(B)  STYRYA HI=T hl STERIhRaA
(C) TeTeRor sht Yftreht

(D) HF ®EH

T el SR weieEl & Susi e Wi
el eIl §

(a) THISHIET 3T Thee
(b) rEfEeE HhfH
(c) <HImH iR
(d) SHFRRRE THR
< :

(A) ¥ (a) TE B

(B) (b), ©FE

© (@, uE

(D) e (d) W §
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15.

16.

(@)

(b)

(d)

Under employment equilibrium is a

feature of

(a)
(b)
()
(d)

Keynesian economics
Neo-classical economics
Classical economics

Supply side economics

Codes :

(A)
(B)
©)
(D)

Match the items given in List - I with those

(a) and (d) are correct
(@), (b) and (c) are correct
Only (c) is correct

Only (a) is correct

of List - I :

List-1I

involuntary
unemployment

full employment
equilibrium

crowding out

effect

transmission
mechanism

List - II
classical

economics

Keynesian
economics

ineffective
fiscal policy
effect of
monetary

(iv)

policy

Codes :

(A4)
(B)
©
(D)

©
(i)
()
@) G

()

(d)
(iv)
@)

(iv)
(iv)

@)
()
(iv)
()
(i)

15.

16.

©

(d)

SIS | i T feardroan
gl
(a)
(b)
(©
(d)
e
(A)
(B)
©)
(D)

H ST

- FATHH ST
FANTRS ST
TS UES et

(@) 3R (d) 7 &
(a), (b) 3 (c) & €
Fad (c) TE ¥
FIE (a) T T

et - 1% 7al ol et - 1 a1 9 faes

T - I
FAfIRA
RN

HIT TSI

- 1
A-LD R (i)

o SR A (i)

FIH ST e TG (i)  JHEEH TSR
Hifa

afeE AR (iv)  gErfa s e

e

(a)
@
(iv)
)
(i)

(d)
(A) (iv)
(B)
©)
(D)

(1)

@

(iv)
(iv)

SPACE FOR ROUGH WORK / 1% & & fod smig
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17. Match the items given in List - I with those 17. '!ﬁﬁ'- 1% HS &l '!{Eﬁ - 119 w7 § fremu

in List-II :
List - I List - II gl -1 g - I
(a) Fisher's equation (i) MV=PT (a) HITE WHIR () MV=PT
(b) Cambridge cash (i) M=KPY (b) FHS Fw HGeH (i) M=KPY
balance approach SUNH
(c) James Tobin (iii) Portfolio (©) s fe (i) HST T %
approach to RICEAIE
demand for SUFTH
money
(d) W. Baumol (iv) Inventory (d) ==, Eie] (iv) " Tl Nl
approach to SURH
demand for
money
Codes : %<
@ ® @ @ @ ® (© (@
(A) (v) @) @ @ (A) @v) @) @ @
(B) @ @) @) ) (B) @ @) @) @)
© (@(v) @) @) @ © @) @@ @ @
(D) @) @) @ ) (D) @) @) @ @)

SPACE FOR ROUGH WORK / T% &td % foad s
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18.

19.

Assertion (A) :

Phillips curve shows the inverse relation

between rate of inflation and rate of

unemployment.

Reason (R) :

According to long-run Phillips curve, in

the long run whatever may be the

inflation rate economy moves at natural

rate of unemployment.

Codes :

(A) Both (A) and (R) are correct, and
(R} is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A).

(©) (A) is correct, but (R) is wrong.

(D) (A) is wrong, but (R) is correct.

Assertion (A) :

According to crowding out effect increase

in government spending reduces the

private investment.

Reason (R) :

In transmission mechanism change in

money supply affects the output through

interest rate.

Codes :

(A) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A).

(B) Both (A) and (R) are correct, and
(R) is the correct explanation of (A).

(C) Both (A) and (R) are wrong.

(D) (A) is wrong but (R) is correct.

18.

19.

Afuwe™ (A) :

- Tipferes =k, SUSTIRT &2 iR qEifewfa <t &

7o gigel™ deiy ol & 1

HIT (R) :
SelepTele TRfe ok % SER <s-wret |
RITEHT TS o 8 stefereme sSR!
i fae <X | nifasiier s L&

e : :

(A) (A) T (R) I 92T € 3R (R), (A) T
EREICES

(B) (A) T (R) &l W&l € WY (R), (A)
i GE S T |

(C) (A) TS T T (R) e B

(D) (A) 7TeId ®§ W (R) T 2

Afuwa (A) :
HTHET 3TMEHE FUE & FRO TWHI =9 o
gfg, Hifs e =+ w9 Fa g

T (R) :
gt fehfe o g1 emyfd # sges, =
T F WA Y NP2 W 9T el &

%

(A) (A) 1 (R) T Wl € W (R), (A)
! UL =T T 2

(B) (A) T (R) T T € AT (R), (A) Tl
TE ARAT B |

(C) (A) T (R) T Tord 1

(D) (A) 7TeId ® g (R) Tt ® |
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20.

21.

Arrange the M;, M,, M; concepts of 20.

money supply in the descending order in
terms of their liquidity.

(A) M;, M, and M,
(B) M, M, and M,
(C) M, Mjand M,

(D) Mj, M, and M,

The correct sequence of demand side of 21.

vicious circle of poverty :
(a) Low income

() Low demand

() Low investment
(d) Capital deficiency
(6) Low productivity
Codes :

(A) (@), (b), () (d), ()
(B)  (e), (), (c), (b), (a)
© (@), (©), (b) (d), (e)
(D) (e), (b), (d), (c), (a)-

A U& H g (YT My, M,
AT M, =i STaE! 3 T e i
(A) My, M, 3R M,
(B) M, M, 3R M,
(©) My, M 3RM,

(D) M, M, 3RM,

TS % GEE T % HIT WSS H1 TE ST
g

(@) TR ™=
(b) T H
(c) T e
(d) TR H ST

(e) T SuTEeh

(A) (a), (b), (9), (d), (¢)
(B) (o) (D), (c), (b), (a)
©) (@), (9), (), (d), (e)
(D) (e), (b), (d), (9), (a)

SPACE FOR ROUGH WORK / W% &1 & forl sig
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22,

23.

(@)

(b)
(©)

(d)

According to Schumpeter, an innovation
consists of :

(a) the introduction of new product
(b) the opening up of a new market

(c) the introduction of a new method
of production

(d) using old source of raw materials
Codes :

(A) (@) and (d)

(B) (0)and (d)

(©) (@) (b and (¢)

(D) (b), (c) and (d)

Match the items given in List - I with those
in List - II :

List - I List - II

Knife edge property (i) Harrod
model

Circular causation (i) G. Myrdal
Materialistic (iii) Leibenstein
interpretation of
history
Critical minimum (iv) Karl Marx
effort
Codes :

@ (k) (9 (9
(4) @v) @) @ @
(B) O @) @@ @)
© @(v) @) (@) @
M) 6 @ @) (i

22,

23.

(a)

(b)
(©)

(d)

YftTeX % STER e § g §

(a) T IR H FAN

(b) T SR HT IR
(c) Sered & 74 fafy =t yeem

(d) =3 9 faT [ B 1 3w

(a) 3R (d)
(B) (9 (@)
(a), (b) 3 (c)
(), (c) ¥R (d)

el - I el o1 it - 11 9 e

T -1 et - 1L
TEE TS W9 () eulea
HHeR IS i) . =
gfaer &1 veiid®w (i) e
e
hifdeh <AqH FIE (iv) ohiet AT
e

(@ () (9 (d)

(A) @(v) @) @) @
B) @ @) @ )
© @v) @) @) @
D) O G (@v) ()

SPACE FOR ROUGH WORK / 1% @18 & forl smie
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24.

25.

Assertion (A) :

Adam Smith advocated the laissez-faire

policy in economic affairs.

Reason (R) :

According to Adam Smith division of

labour increases the labour productivity.

Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

Both (A) and (R) are correct but (R)
is not the correct explanation of (A)

Both (A) and (R) are wrong

(B)

©)
(D) (A) is correct but (R) is wrong
Assertion (A) :

According to Prof. Robinson only happy
accident can bring equality among actual
growth rate, warranted growth rate and
natural growth rate.

Reason (R) :

Harrod’s first problem is the begining of
Harrod’s second problem i.e. instability
problem.

Codes :

(A) Both (A) and (R) are correct and (R)

is the correct explanation of (A)

Both (A) and (R) are correct but (R)
is not the correct explanation of (A)

Both (A) and (R) are wrong

(B)

©)

(D) (A) is correct but (R) is wrong

24.

25.

ARIHIT (A) :

e Ty Y o Al # sEwad H
ife @1 guedH o1

Il (R) ¢

wew fomg ¥ oER o9 faweE 4 5w
Jeugerdl H 9fg Bt B!

e
(A) (A) T (R) 2T W € WA (R), (A) B
e S R

(A) T (R) T T § G (R), (A)
F TE == T B

(A) 791 (R) S 71T €|

(A) & & T (R) e B

(B)

©)
(D)

ARRYAT (A) :

w1, Afraa ¥ AR At fawE <,
s T X 3R Tt fame X H
o Fae GEEA S & WA A Hehdt
gl

HIOT (R) :

e F vEel THEN & e HgE T
T SRY B & Stafa sifera aHEI |

%<
(A) (A) T (R) < e ¥ 99 (R), (A)
T R

(A) 7 (R) AT & ¥ T (R), (A)
F GE ST TR 7

(A) 7 (R) S 7T €|
(A) T § T (R) e B

(B)

©)
(D)

SPACE FOR ROUGH WORK / 1% @t % o s
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26.

Which of the following statements are

correct ?

(2)

(b)

(d)

Nelson is associated with the theory
of low level equilibrium trap.

Nurkse is associated with the theory

of circular causation.

Hirschman is associated with the
theory of unbalanced growth.

Smith is associated with the concept

of vent for surplus.

Codes :

(A) (@), (c) and (d) only

(B)

©

(a), (b), (c) and (d)

(b), (c) and (d) only

(D) (b) and (d) only

26.

71 & HE wHem W €2

(©)

(d)

(A)

(B)

(©)

(D)

T o1 Hely T Sl 9 o (|
e sRfafoaw ¢v) fagia & @y
i

ThY T Heiel TR HiowH fagra
gl

T 1 Hey rgfea afg fagia @
gl :

e =1 weiy sifeRr (wywrw) & Anl
% STAURT Y ¥ |

FA (a), (c) IR (d)
(@), (b), () ¥R (d)
FId (b), (c) AR (d)

e (b) SR (d)
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27, Match items in List-I with items in 27, §ei-1% & 7 wdl 1 gelt-11¥ SRR kD

List-II and select the correct answer from ey gAferd F R @ ™ % Tl
the code given below : IR R T
List-I List-IT -1 Tei-11

(a) Adam Smith (i) Real balance effect @ Teuf@ma () WWQW

(b) Heckscher-Ohlin (ii) Division of labour (b) TFaL-3iefer (i) ZH fave=

(c) E.Von (ifi) Factor endowment  (c) % M SFeEt (i) SIR F HRX
Stackelberg theory of trade M= fagid
(d) D. Patinkin (iv) Tso-profit curve (d) <. wffe (iv) HH-<n IR
" Codes . FE:
@ ® © (@ @ ® © @
(A) @ @) @ @) A) @ @ O )
®) @) @) @) @ B) @) @) @) @
© Gv) @) @) @ © Gv) @) @ @
(D) @) @Gv) @ @ (D) @) @v) @ (@)

SPACE FOR ROUGH WORK / T & & fordl witg
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28.

29-‘

Assertion (A) :

Indirect taxes promote inequality in the
distribution of income.

Reason (R) :

The poor bear more burden of indirect
taxes.

Codes :
(A) (A) is true but (R} is false

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(©) (A) is false but (R) is true

(D) Both (A) and (R) are false

Which one of the following is not included
in capital budget ?

(@) Expenditure on asset formation
(b) Interest payments

(c) Money collected from public
borrowing

(d) Subsidy
Codes :

(4) (@), (b) and (0
() (b)and (c) only
(C)  (b) and (d) only
(D) (d)only

28.

29.

Afime (A) :

Y F 3 & fqaor & remrar s
g

<hIUT (R) :
YE FHU 1 WK T W o e §

C&X
(A) (A) ¥ T I (R) 39 21

(B) (A) * (R) I 5 § e (R), (A)
! TEl = R

(C) (A) 379 ¥ W (R) T 81
(D) (A) 3R (R) ST e/ T

T = Yt S H it W war g2

(a) UREF Fmio W) =™

(b) =S PR
(c) HrESIf &l & g i

(d) wfswd

Fe

(A) (), (b) T (o)
(B) 9 (b) T ()
(©) a9 (b) Wi (d)
(D) & (d)
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30. Monopoly power : 30.

(A) Increase consumer surplus
(B) Lead to increase producer surplis

(C) Lead to lower prices and lower
output

(D) None of the above

31. “When production cost is zero, the price 31.

determination under monopoly will be

such that total income is maximum.”
Which of the following is correct ?
(A) This statement is correct

(B) This statement is half-truth

(C) This statement is wrong

(D) The marginal income will be
positive in this situation

32. In any production process, the marginal ~ 32.

product of labour equals :

Total output
(A)  Total Labour inputs

(B) Total output — Total capital stock
(C) Total output produced by labour

(D) The change in total output resulting
from a “small’ change on the labour
input

TR VIR

(A) SusirEn H we | g
(B) ScEe r=d H If
(C) ehiwa Te e § wH

(D) SWiE # ¥ I T

S SETE AT Y T, S T IR
¥ ofiq FHa Fuito TE i SEfE T
ama stferepan &1’

Frfofa § w=nw& 8?2
(A) TEFH T T
(B) % e 1H-TA ¥
(C) o FHIA e €

(D) =9 o & Tl ST ¥ B

fret ot ScuTew gfea B g9 w1 i
IqTEEHAT e Bl € ¢
Fel SR

A ——
ERELKICE

(B) T IERQ — FA IS ©IF
(C) 99 B Seafed A e

(D) et SeaiE A IR St R w wree §
 37q " it w1 RO §

SPACE FOR ROUGH WORK / T wrd % o wig
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33.

34.

Who expounded the neutral monetary 33.

policy ?

(A) Prof. Hansen
(B) Prof. Hayek
(C) Prof. Hawtrey

(D) Prof. J.S. Mill

The basic rational of the “Big Push” theory =~ 34.

is based upon the idea of :
(a) Size of the population

(b) Indivisibilities in production
function

(c) Internal economies

(d) Indivisibilities of demand
Codes :

(A) (a), (b) and (c) are correct
(B) (b), (C) and (d) are correct
(©) Only (b) and (c) are correct

(D) Only (b) and (d) are correct

TeEd Hifgw M ot TRt frem <& o ?

(A) HIHE AT
(B) U I
(©) Wi

(D) WFR ST, foa

for ferem ot <2t weent! g ot gEITER
smenfia §?

(a) STTEEA H SRR

(b) ST e H S

(c) ofafer fageafaand

(d) HIT H I

(A) (@), (0) T (7 &
(B) (b), ()T (d) T E
(C) e (b) T () T &
(D) oA (b) T (d) ¥ ¥

SPACE FOR ROUGH WORK / T® & & & s
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35. The main areas of BASEL - Il norms is :
(a) Risk coverage
(b) Bank branch expansion
(c) Adequate liquidity
(d) Adequate capital provision
Codes :
(A) (a), (b), (c) and (d) are correct
(B) Only (a), (b) and (c) are correct
(C) Only (a), (c) and (d) are correct
(D) Only (a) and (d) are correct

36. Assertion (A) :

One of the characteristics of many
underdeveloped countries is that they
have a low saving rate and low capital

formation.
Reason (R) :

In underdeveloped countries this is

. mainly due to low level of income.
Codes :

(A) Both (A) and (R) are true but (R) is
not correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

35.

36.

A1 HITH 1 HE &7 T :
(a) STEw TSR

(b) S wrEn fowr

() T e

(d) T Yol e

HE

(A) (@), (), (@) () T E
(B) % (a), (b) 3R (c) W &
(C) Fad (a), () 3 (d) W& §
(D) e (a) 3l (d) TE €

AT (A)

s sTeafaeaa 2wl w5 faaed 4 € T
7% & fF T otew Tad R iR eved ISl
frmfor g €|

I (R) :
seaforiad 39 8 % g €9 W A H
et X o SR BT B

X

(A) (A) 3R ®) I T T TG (R), (4)

] Ga = =E ¥

(B) (A) iR (R) S T T 44 (R), (A)
F TE AT R |

C) (A) W BT (R) T ®

(D) (A) T & T (R) T €
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37.

38.

Which of the following is not used by
Reserve Bank of India for controlling
credit ?

(A) Increase in CRR
(B) Increase in SLR

(C) Increase in Bank Rate
(D)

Increase in purchase of Government
Securities

Match items in List-I with items in
List-IT and select the correct answer from

the code given below :
List-1 List-II
(a) MakeinIndia (i) 28 Aug. 2014

(b) Pradhan Mantri (i) 25 Sept. 2014
Jan-Dhan, Yojana

(c) National Skill
Development

(iii) 16 Jan. 2016

Mission
(d) Startup India  (iv) 15 July 2015
Codes :

@ () (9 @

(A) @ @ Gv) @
B) @ @) @@ @)
© @ @ @) (i
(D) @) @ @Gv) ()

37.

38.

R frored o g0 f o 9 fongent sugnr
Ry e /g &l o i § 2

(A) H.eRR. ¥ 3fg

(B) TH.WHAIR. ¥ gfg

(©) dF|H G

(D) s wfavforll &1 @l o gfs

Felt-149 & 7 el A gei-1 ¥ @ vl %
e gafer wY SR A9 R ™ 512 @ wd
I hT FFT Y
-1 -1
(a) ¥ 39 sfe (i) 28 3T 2014
(b) WuMEES SHYE, (i) 25 fadeR 2014
ST -
(c) e fepa (iii) 16 SR 2016
EEGRECA RN
(d) WR-39 e  (iv) 15 e 2015
%

@ () () @@
(A) @ @) @Gv) @
(B) (& @) @) @)
© @ @ @Gv) @)
D) @ @ @Gv) @@
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39. Match items in List-I with items in 39, §&f-I F @ T -1 H T e

List-TI and select the correct answer from % Ty gAfera CERCEICALCRIE] Fel | &
the code given below : T HT T B
List-I List-1I Tqot-1 TEI-11
(a) Fiscal (i) Total Revenue (a) TS T (1) P T =T —
Deficit expenditure — el ot it
Total Revenue
receipts
(b) Budget (ii) Total Revenue — (b) dSIE =t (i) T T — AT,
Deficit Total expenditure EUE I
excluding interest I BIgHT
payment on Debt.
() Revenue (iii) Total revenue (c) TSR ®ET (i) R™ I BlgT
Deficit excluding the T AE — A T
borrowing — Total
expenditure
(d) Primary (iv) Total revenue — (d) wgfes e (iv) A AT — A
Deficit Total expenditure
Codes : e
@ () (9 (@ @ () © (@
(A O @) @ @) | A O @ @ )
®) @@ @) O @ ®) @) @Gv) @ @
© G @ @) 3@ © Gv) @O () (@)
O) @ @ @ @) (D) @@ @ @ )

SPACE FOR ROUGH WORK / T &rd & ford e
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40.

41.

Assertion (A) :

In the heydays of planning, Amartya Sen
advocated the adoption of capital
intensive techniques for India.

Reason (R) :

India is a relatively labour abundant
country.

For the statements given above which of
the following is correct ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B)  (A) is true but (R) is false.

(C) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(D) (A) is false but (R) is true.

Assertion (A) :

In India, more and more farmers are

getting pushed out of agriculture.
Reason (R) :
Their land base is becoming smaller.

For the statements given above which of
the following is correct ?

(A) (A)is true but (R) is false

(B) Both (A) and (R) are false

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

40. HAT (A) :

41.

o ¥ i 4 smed @9 3 wRa
for2 e Sft Trenfitent <n1 ferepes wonfira fipa |

"SI0 (R) :

IR FTIeIT S9 T 29 ¥

IR el o fore frefafea § § w wd@r

®?

(A) (A) @@ (R) <Hi T BT (R), (A)
e TR B

(B) (A) ¥F 8 W (R) T j1

(©) (A) W (R) T ¥ § T (R), (A)
T Tl T e B

(D) (A) 3791 § T (R) T )

AR (A) :

A H Sl 9§ s foram @t 9§ gee &
RO AL B TR T

T (R) :
STeRT Y TR ST BIeT Bl o1 &7 2 |

U el & T fefafes 8 9 =0 a@
®?

(A) (A) ¥ T W (R) o B

(B) (A) W (R) TFI 318cd 1

(©) (A) T (R) I T € T (R), (A) T
T TR T

(D) (A) T (R) T 9 § WG (R), (A)
T TE TR TR § |
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42,

43.

Assertion (A) : 42.

In India, percentage share of service
sector in GDP has increased during
2001-2011.

Reason (R) :

Life expectancy has increased in India
during 2001-2011.

For the statements given above which of
the following is correct ?

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are correct but (R)
is not the correct explanation of (A).

(C) (A) is correct but (R) is false.
(D) (A) is false but (R) is correct.

If the two regression coefficients are given  43.

by (—0.45) and (—0.8) then the

coefficient of correlation is :

@) -0.36
() +0.36
(c) +0.6
d -—06
Codes :

(A) Only (a) is true

(B) (a) and (b) are true
(C) (c) and (d) are true
(D) All the above.

HAA (A) :

o 2001-2011 % SNF WRA % Fhel SR
3eqre B Qe & 1 wioe AEH 99 ¢ |

IT (R) :

2001-2011 % oafy & WRa # Sied Jearn
AgfggE el

SREa woAl ¥ fore frefated ® 9 =0 @
7?2 :

(A) (A) T (R) 3 9 € T (R), (A) F
T T g

(B) (A) T (R) 3 ¥ ¥ W (R), (A)
T TE TIHHL T B

(©) (A) T & T (R) A T
(D) (A) 379 & Y (R) ¥ €1

Ife & TAHA Ol (—0.45) T (—0.8)

o1 el T ¥ @ wedsie o1 IO B0
(a) —0.36

(b) +0.36

(c) +0.6

d -0.6

e

(A) I (a) T

(B) (a) T (b) eI €
Q) (O (d) wE
(D) S Tt
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44.

45.

The mean and variance of a binomial 44.

distribution is equal to :

@ b, Jpa
(®) np, npq

() np, ynpq

(d) n2p2, n2qu2
Codes :

(A) (a) and (b) are true
(B) (b) and (c) are true
(©) (a) and (d) are true
(D) None of the above

Assertion (A) : 45.

The standard deviation is the positive
square-root of the arithmetic average of
the squared deviations of various values
from their arithmetic means.

Reason (R) :

(+) and (—) sign are not ignored.

For the statements given above which of

the following is correct ?

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) (A) is correct, but (R) is not correct.

(C) Both (A) and (R) are correct and
(R). is not the correct explanation
of (A).

(D) (R) is correct, but (A) is not correct.

fgue faaeu =1 Wey W8 WO SHeh SR
G

(@) /np, npq
(b) np, npq

() np, Jnpq

(d) n2p2, nszqz
Td‘ :

(A) (@)@ (b) W& E
(B) ()T () T ¥
©) ()W (@) W E
(D) W H FiE &l

SRR (A) :

ol T e & fafiel &l & T wes
q ford 73 for=eri & il % TR 91T &
YT e JATT faee weedl ¥ |

T (R) ¢

TR (+) T () Fordi i B 7 S

Iyl el o fo frafafes & @« ad

g7

(A) (A) 3R (R) 3 &t ¥ 3R (R), (A)
i TE & ¥ |

(B) (A) W&l B, 9 (R) T&l 7&f ¥

(C) (A) 3R (R) T W& ® 3R (R), (A)
) HEl ST T o)

(D) (R) & T, W] (A) T )
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46. Assertion (A) :

Karl Pearson’s coefficient of correlation
is best mathematical method of

computing correlation.

Reason (R) :

N

It is based on mean and standard

deviation.

For the statements given above which of

the following is correct ?

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) (A) is correct, but (R) is not correct.

(C) Both (A) and (R) are correct but (R)
is not the correct explanation of (A).

(D) (R) is correct, but (A) is not correct.

47. Group-I Group-II
(a) Rejection of Hy (i) Stratified Random
when it is true Sampling

(b) Mean is equal to (ii) Type I error
degrees of freedom

(c) Population is (iii) Positively Skewed
heterogeneous distribution

(d) Mean > mode  (iv) x* distribution
Codes :
@ () (@ @
(A) @ @Gv) @) @0
B) @ @@ @) @)
© @ @v) @ G
(D) Gv) @ @) @)

46.

47.

AR (A) :

el T 1 FearrY ol TeesrY J1d
w0 H wags v fafy 21

THIT (R) :
& WieA T WA forere W SR ¢

SR FeAl ¥ fore Freafafea § 3 T wd@

2?

A) (A) 3R (R) I & T W (R), (A)
) GE A B

(B) (A) WA TG (R) TR 1

© (A) ¥R (R) 3 & §, T (R), (A)
! & A T &

(D) (R) T T, W (A) T €1

geH-1 gE=-11

(a) H, B/ SFfiFfa (1) w@ia agfss
5 foF a8 9 2 FIGERE

(b) WA @A e (i) TRY LR
F TR 7
(c) SHuem fawm- (i) CEICCIRELRE

SICEEI. faraTor
(d) WA > Sgeh (iv) x? e
%

@ ) © (@
(A) @ @Gv) (@) @
® @ @ @) )
© @ @) @ @
D) @(v) @) @) (i)
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48.

@)

()

(d)

Match the following and choose the

correct answer :

Group-I

Trend (i)

Coefficient of (i)
Variation
Mean =np (i)
Systematic (iv)
Variation
Codes :

@ (b) (o)
(A) (H) @Gv) ()
B @ @) ()
© @) @ (i
(D) (@) & ()

Group-II

(5D/mean) x 100

Normal

Time series

Binomial

(i)

)

48.

(©)

(d)

(A)

(B)

©

(D)

TqEIt-1

EE (@)
e ()
o -

MA=np (i)
wafad (iv)
EGE

@ (b) (o)
(i (@v) ()
O () (v)
(iv) (1) (i)
(i) (@) (iv)

Frefafea 1 gafia &% @ ud s T

Tei-11

(g forerer/
HET) % 100

A ot

fgug
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49. Match the following and choosethe

“correct answer !

Group-1

(@) Range @)

(b) Coefficient (i)
of Variation

i

(c) Variance

(d) Interquartile (iv)

Group-11

Square of
standard deviation

Uses limited
information

Relative measure of

dispersion

Smaller than range

range
Codes :

@ () © (d
A) () @) @ @@
®) @) @ @ @)
© @ @) @ @)
(D) () @) @) (@)

49, Trefofad S gafed w & va I g

(c) JET

(d) SfTeigds

@ (b)
(A) @) ()
(B) (i) (@
© @@ ()

(D) @ @

-1

(@) e foee w1 ot

(i) fe st
EERIK

(i) STAFERTOT Y T

A

(iv) Toram =t g §
BrRT

(€ (d)

H @

(i) (@)

O @)

(i) (iv)
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Group-I Group-II 50. ‘Gﬁ"f—l 'ﬁ[\%ﬁ‘—ll

(@) Total area under (i) B;=0 (a) TEMME TR F (i) B,=0
normal curve a EIRaE]

(b) Square of SD (i) 1 (b) WHG formem o (i) 1

L

() Symmetric (i) 5 X 100 () i o (i) 5 X 100
distribution

(d) Co—efficient of (iv) Variance (d) fa=em uis (iv) J&IOT
variation

Codes : %<
@ G ( (@ @ ) (© (@

(A) @) @v) @ @) (A) @) @) @ @)

(B) @) (@v) @) (i (B) @ @) @ @

© @) @ @) © W O @ G

D) O @ @) @Gv) O) @ @ @) (@)

-00o0- -00o0-
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V’Waﬁm.m#mrmzla’znsﬁﬁz } { atfrewaa 3i@ : 100

‘Time for marking answers : 1 Hour 15 Minutes Maximum Marks : 100

e
1. T - § 50 T ¥ - Yo W 2 57 & Tt IYA B AT A

T % I, § T’ OMR SR-32 (SAER-312) W 3ifhd Hifa |

i

3. N Hodish e foRa SmerT |

W’_ﬁw?%ﬁamaﬁ%@%%wwﬂaﬁa%l

4.
5. OMRSW-¥ie (sifer-¥ie) 1w & wwg e 7 ST = /=X f9od 717 we W
394 g = faerae o 1fe vg Wi fres weaey 98 @ue 8 S |
Note :
1. This Question Booklet contains 50 questions. Each question carries 2 marks. Answer all

- questions.
2. Indicate your answers on the OMR Answer-Sheet provided.
| 3 No hegative marking will be done.
4; . Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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